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10.

11.

Instructions to Students
This Question Booklet contains 90 questions.

All questions are compulsory. Each question carries
one mark and there will be no negative marking.

Each correct answer will be awarded one mark.

Write your Eleven digit roll number as allotted to you
in the admission ticket clearly on the test booklet.

During the examination,
* Read the questions carefully.

e Completely darken/shade the relevant oval
against Question No. in the OMR answer sheet
using blue/black ball point pen. Do not try to
alter the entry and not to do any stray marks
on OMR Sheet.

e Example: In a question booklet if No. ‘C’ is the
correct answerforQuestionNo.20,theninthe OMR
answer sheet, shade circle ‘C’ using blue / black
ball point pen as follows.

20) @ . @ (This is an example only)

If more than one oval is darkened for a given
question, such answer is treated as wrong and no
marks will be given.

The Student and Room Invigilator should sign
in the OMR sheet in the space provided.

Candidate should return the answered OMR sheet
only to the Room Invigilator before leaving the
examination hall.

The calculator, mobiles and any other electronic
equipments are not allowed inside the examination
hall.

English version of the question paper will be
considered as final, in case of any dispute arising
out of variation in translated version.

Rough work can be done in the place provided in
the Question Booklet.

10.

11.
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Directions : (Questions : 1 -5)

Complete the following number series by
choosing the correct number from the given
alternatives.

1.

71,
A)
B)
)
D)
14,
A)
B)
C)
D)
25,
A)
B)
C)
D)

73, 79, 83, ?, 97.
89

91

93

87

39, 84, ?, 258.
255

160

150

155

125, 16, 64, 9, 27, 2, ?
4,6

4,8

1,8

2,8

?, 6, 24, 60, 120, 210.

A)
B)
©)
D)

1

2
0
3

2, 9, 16, 27, 38, ?, 68.

A)
B)
9
D)

49
51
53
45
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BRWIN : (JJned : 1-5)

3RLTT TSRFOHNYOT FOOSRE BOZ OB,
02 IUNT Moay, BeednYRy, TRLFRAPA.

1.

71, 73, 79, 83, 2, 97.

A) 89

B) 91

C) 93

D) 87

14, 39, 84, ?, 258.

A) 255

B) 160

C) 150

D) 155

25, 125, 16, 64, 9, 27, ?, ?
A) 4,6

B) 4,8

C) 1,8

D) 2,8

2, 6, 24, 60, 120, 210.

A) 1

B) 2

C) 0
D) 3
2, 9, 16, 27, 38, ?, 68.
A) 49

B) 5l

C) 53

D) 45



Directions : (Questions : 6 - 8)

The order of the letters that needs to come
in the boxes to complete a certain pattern is:

6. a|:|b b|:|aa|:|b|:| ca
A) c,c,c,b
B) b,c,c,b
C) c,b,b,b

D) a,b,c,a

7. pq|:|s|:|rs|:|rs|:| q
A) 1,1,q,q
B) a.p.q.p
C) raq.pp
D) p,q.rs
8. yx[lyy[lx[][]x
A) V.Y ¥X
B) xy.xy
C) VX X X
D) X, X,V,y

Directions : (Questions : 9 - 14)

Complete the given analogy by selecting the
correct answer from alternatives:

9. 11 : 1320 :: ? : 720
A) 10
B) 9
C) 8

D) 7

BRWIN : (Jnev 1 6-8)

20T ANFF DTYIRTY, WRFRRPIL WPINYY
WTBeHT WFTNRY FhIona:

a|:|b bDaanD ca

A) c,c,c,b

N

B) b,c,c,b
C) c¢,b,b,b

D) a,b,c,a

7. pq|:|s|:|rs|:|rs|:| q
A) 1,r1,4q,9
B) q,p.q.p
C) rq,pp
D) p,q. s
8. yx[yy[lx[J][]x
A) Y.V ¥,X
B) X, y.x,y
C) y,X XX
D) X, X,y,y

BRWRIAW : (JJned : 9 - 14)
BRYTOT TCIRFCRNLOT BOBRT  LITRW,
@02, FUNT MTNIOBT, JROFNRAVA

9. 11 : 1320 :: ? : 720
A) 10
B) 9
C) 8

D) 7



10.

11.

12.

13.

14.

A)
B)
C)
D)

1.21 : 0.1:

A)
B)
C)
D)

314
143
134
413

1.5
5.1
2.5
5.2

:6.25 ¢

3:39::4:?

A)
B)
©)
D)

MASK : LBRL : : LOCKDOWN : ?

A)
B)
9
D)

CORONA : DQUSSG : : VIRUS : ?

A)
B)
9

D)

48
49
84
94

KPBLCPVO
KPBJCPVO
MOBLCPVB
MOBLCQVP

UKVYX

XKUYZ

WKUYX

WKVYX

: 215

?

10.

11.

12.

13.

14.

NMMS - MAT (K-8) P-1
3% : ? e 4% : 215
A) 314
B) 143
C) 134
D) 413
1.21 : 0.1::6.25 : ?
A) 1.5
B) 5.1
C) 25
D) 52
3:39 ::4:?
A) 48
B) 49
C) 84
D) 94
MASK : LBRL : : LOCKDOWN : ?
A) KPBLCPVO
B) KPBJCPVO
C) MOBLCPVB

D) MOBLCQVP

CORONA : DQUSSG : : VIRUS : ?
A) UKVYX
B) XKUYZ
C) WKUYX

D) WKVYX



Directions : (Questions : 15 - 19)
Identify the wrong number / pair of

numbers in the given series.

15.

16.

17.

18.

19.

2, 8, 18, 32, 54.
A) 18

B) 54

C) 8

D) 32

4, 18, 50, 100, 180.
A) 50

B) 180

C) 18

D) 100
0,1,1,3,3,5,6,7,9, 10.
A) 1,3

B) 3,5

C) 9,10

D) 7,9

4, 10, 30, 67, 128.
A) 67

B) 4

C) 30

D) 10

240, 50, 12, 4, 2, 2.
A) 50

B) 4

) 12

D) 240

BRUEIND : (Jgnsd 1 15-19)
doties moam, BerdonQ I Bosd/weed
B30y, MHOTS2.

15. 2,8, 18,32, 54.
A) 18
B) 54
C) 8
D) 32
16. 4,18, 50, 100, 180.
A) 50
B) 180
C) 18
D) 100
17. 0,1,1,3,3,5,6,7,9, 10.
A) 1,3
B) 3,5
C) 9,10
D) 7,9
18. 4,10, 30, 67, 128.
A) 67
B) 4
C) 30
D) 10
19. 240, 50, 12, 4, 2, 2.
A) 50
B) 4
) 12
D) 240



Directions : (Questions : 20 - 24)

Four groups of numbers /pair of numbers/
group of letters are given for each question
of which three of them are alike and one is
different. Select the different one.

20. A) 72,56
B) 156,132
C) 110,100

D) 42,30

21. A) 5204
B) 7123
C) 6122

D) 4328

22. A) GLIP
B) JOLS
C) BGDK

D) SXUZ

23. A) HEC
B) FBA
C) OLH

D) LID

24. A) GILQ
B) LNQU
C) TVYC

D) DFIM

NMMS - MAT (K-8) P-1
BREIN @%ﬂe;a :20-24)
BREID g@dmg cslewicleiatelslonC :3093671%/
BReR xo‘@%ﬂ%/ wgony TR, momn@m&
3RLR. BRNEY THRTL MHOTBRL 2WomH 0edodH

ﬁowoqﬁﬁz&:ol TBRODT), oW RN, apsolmﬂd
PRFRNTIRTY, OS2

20. A) 72,56
B) 156, 132
C) 110,100

D) 42,30

21. A) 5204
B) 7123
C) 6122

D) 4328

22. A) GLIP
B) JOLS
C) BGDK

D) SXUZ

23. A) HEC
B) FBA
C) OLH

D) LID

24. A) GILQ
B) LNQU
C) TVYC

D) DFIM



Directions : (Questions : 25 - 28)

The following venn diagrams shows the
relationship among the three given objects.
Identify the appropriate diagram to show

the relationship among them.
a

d

25. Karnataka, Bengaluru, Hyderabad

A) d
B) ¢
C) b
D) a

26. Metals, Iron, Carbon
A) f
B) e
C) d
D) b

27. Humans, Singers, Musicians
A) d
B) e
C) ¢
D) a

e

TRWINE & (Jdned : 25 - 28
=

B FENT RIS WS gﬁg@g BREITH
TRT> TRNRINTLE HOWOFRY, BRWMHSH. B3
BOWOFRIT, BAWHE TOCIRT WIHW, BREILH
eso&érie?od oo,

@)

26.

27.

&
-

BTOFLIT, Woneeds, Imeen®
A) d
B) c
C) b
D) a

BRI, Y, YoMV
A) f
B) e
C) d
D) b

TOTRNT, TRMOTTY, BONCSRTTS
A) d

B) e
C) c¢
D) a
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28. Employees, Literates, Rich people 28. «ORRENNH, ©TTIT,, Bbo3TH
A) ¢ A) ¢
B) d B) d
C) e C) e
D) f D) f
Directions : (Questions : 29 - 34) BRWRNAD : (I 1 29 - 34)
Find the missing number/letter in the given ~ 3R¥TE IRIFIACY W) IJeeNTT Foy
matrices. @ TITW, B0 WROXD.
28 8 7 28 8 7
29 27 6 9 29. 27 6 9
25?2 5 25 2 5
A) 4 A) 4
B) 10 B) 10
C) 5 C) 5
D) 7 D) 7
D 1 J| D 1 J
30. A G L 3. A G L
C K ? C K ?
A) N A) N
B) H B) H
C) R C) R
D) P D) P
> 7z E| > 7z E
3. L H M 31. L H M
KW T KW
A) X A) X
B) A B) A
c I o I
D) N D) N



47
32.

~
|co-h\1|

7
32
59
34
24

w

33.

— 9

S92 0 2 2 [Fa7
98]

[y

&)
|wu-o|

B)
C)

AN = DN W

34. 26

ZEZ| ©
n N
~

A) 32
B) 34
C) 28
D) 30

Directions : (Questions : 35 - 36)

Choose and substitute the correct set of
signs in place of * sequentially selecting
from the given alternatives to make the
equation meaningful.

35. 20+x12*%4*8

A) — T +
B) = v, =
C) = =+ x

47
32.

~
|oo-h\1|

71
32
59

34
24

33.

|:u~| 9 9 g 3 |\1cxm|

W
[y
W W 9
N

B)
0

N = N W

wn
N e
=

34.

72|
N
~

A) 32
B) 34
C) 28
D) 30
BeuNne ¢ (JJned : 35 - 36)
T DRCTOLOTRY, OFPETPLT TR, 030

BB NS, * AR TN BTedTeH
QOWTR, ERLITHT TJesRECHRYOn ok, [RRD.

35. 20*12*4*8

A) - = +
B) = = -
C) = =+ x
D) + =, x
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36. 12%4%2%6 36. 12%4*2%6

A) x, + = A) x, +, =

B) =+ x, = B) =+ x, =

O + =+ C) + = =

D) — = x D) -, = x
Directions : (Questions : 37 - 38) RSN  (T3neh ¢ 37 - 38)

Find out which numbers / signs should be T8 TeFTRTQ O30T OB /BT, NTR,
interchanged to get the correct equation  ®TR-WTXD TRRTN FNEITLF) FOIRNTHLIT

37. 12+6=8+4x3 37. 12+6=8+4x3
A) + and + A) + D +
B) 6 and 3 B) 6 =3 3
C) = and x C) = x
D) + and = D) + &3 =
38. 10x3-5+4=9 38. 10x3-5+4=9
A) 3 and 4 A) 3 =3 4
B) x and + B) x &3 +
C) 10and5 C) 0= 5
D) - and = D) - &= =
Directions : (Questions : 39 - 43) BRWIN : (JJned : 39 - 43)

In the questions given below the numbers 3R gaticom FINRYY @FINSYT Toadned
in the figures are related. Identify their Somoqswmez SRONE. B3 xoz',.)oqswso“1 nohe
relationship and find the missing number. WITY W BRENTLT B30T, FORLROWO.

39.

8 w16 17 20 25

A) 20 B) 21 C) 22 D) 31



40.

5 6 9
7 2 4 3 6 4

3 5 3
A) 31 B) 39 C) 42 D) 18
41. 36 3 47 44 ? 56
38 35 49 46 52 65
A) 63 B) 53 C) 43 D) 33

A) 6 B) 11 C) 12 D) 10

43.

A) 100 B) 64 C) 8l D) 71



Directions : (Questions : 44 - 47)

The following questions are based on the
given intersecting figures. Each figure
represents a group.

7 Fishermen

Businessmene— 5

Farmers

44. The number of Businessmen who are
not fishermen :

A) 16
B) 15
C) 21
D) 29

45. The total number of farmers who are
businessmen :

A) 18
B) 24
) 12
D) 20

46. The total number of fishermen who are
both businessmen and farmers :
A) 3
B) 22
C) 4
D) 8

NMMS - GMAT (K-8) P-1
TRWIND (@%ﬂ% 144 - 47)

BN TJ R BtIHm 3eqT $FINSRy, ST,
VS $FICH0 2.0 RHOTRY, TSRS,

7 SNCTMOTTD
2N
8 3
m5m8716§3<— 5
10 6
/ f \
8@53:33

44. SPEFMTTYT XY mﬁmamf zog:'s’23 :

A) 16
B) 15
C) 21
D) 29

45. msmaﬁ%ndow XY :%36 so&Szs :

A) 18
B) 24
C) 12
D) 20
46. TRIRON =Y TBIH QTER SN
SRERMOTT 2ty BOSS;
A) 3
B) 22
C) 4
D) 8



47. The number ‘7’ represents, the total

number of :

A) Fishermen

B) Fishermen only

C) Fishermen who are not farmers

D) Fishermen who are not businessmen

Directions : (Questions : 48 - 52)

Read the following questions carefully and

find the answers :

48. A baby is born for every two years

49.

in a family. If the family has totally 5
children and sum of their ages is 40,
then the age of the eldest child is :

A) 10 years
B) 7 years

C) 14 years
D) 12 years

Introducing a man, Harsha said,
“his only brother is the father of my
daughter's father”. How is that man
related to Harsha?

A) Grandfather
B) Father
C) Uncle

D) Father-in-law

47. :10936 77 98 ) ﬁosﬁéoﬁmel TATRT:

A)  NEIPMOTTH
B) neomotdd @33
C) TBoYB Q0eROTT

D) om00ndQn nesmooa.

BRWRINW : (IJned : 48 - 52)
81 3UNT TFRYR, MDY, WD Ty ¢OZOR.

48. BEOWHPOTTY T AT THCER,

49.

200D M WIDIT. & BHROWRY Wi, 5
DTIT, WTT TeRBRY [eg 40 ©TT, &
EPONT BRTW FHAT TR

A) 103xmF
B) 7axF
C) ld=we
D) 12==F

W) WIORRY, TWOWRTY, THE &en
ReHTS, “A[T DFE BRI VT, Y
SoTIOH BOWCIRNTYN”. ToMeTT & TFOID
THEIR DR BOWORATN?

A) vy
B) oz
C) uyy

D) o



50.

51.

52.

‘P’ is the father of ‘Q’, ‘R’ is the son of
‘P, ¢S’ is the brother of ‘T’. ‘T” is the
daughter of ‘Q’. The grandfather of

‘S’ is :
A) P
B) Q
O T
D) R

If February 6™ of 2000 is Sunday, then
what day is March 6th of 2001?

A) Saturday
B) Tuesday
C) Monday

D) Sunday

It is 10.30 pm in a watch. The minute
hand points towards south, and the
hour hand points towards :

A) South - West
B) North - East
C) North - West

D) South - East

50.

S1.

52.

NMMS - MAT (K-8) P-1
‘PPose ‘Q’S 808, ‘R’ ‘P’o &3vn, “S?
& ‘T’ 88rews. ‘T’ode ‘Q’°S Sonsh,
TomeTs ‘S’F e

A) P
B) Q
C) T
D) R
20008¢ BTR0I FFO 68¢ Fo0e

mmmdmncg& 20018¢ QBNOH T
63¢ 300caL 03T ANTNT ?

A) 320

B) &ongmes

C) RAredzws

D) ohees

nRRTRROTTY Tk 10.30 pm SN,

ORT QNI me,?% dé\ £ as&m& ém@:‘ogd.
TOMTT not3od meé% 3RO as:g :

A) I8
B) sso03
C) oo

D) srigo®



Directions : (Questions : 53 - 56)

In column - 1 words are given, their codes
are given under column-2. Find the codes
for given words.

TBRWIN @%ﬂe;a : 53 -56)

ﬁ:m_pgdﬂeémel ToE-1 TOHE ITAYR Fogs-2
3Q SRTBRNG. @megaz ERTBOIT ITnen
rbm_gd TOT 2B0WO.

Column - 1 Column - 2 Hog-1 Ho-2
FRUIT cxmps FRUIT cxmps
RAIN zncp RAIN zncp

FUN mxz FUN mxz
UMBRELLA ojcmnfod UMBRELLA ojcmnfod
FOX xyb FOX xyb

ROSE yckj ROSE yckj

53. The code of the word AIR is :
A) npm
B) pmz
C) mzn

D) npc

54. The code of the word LIST is :
A) oycs
B) opks
C) oykj
D) opkj

55. The code of the word BOSE is :
A) dyfk
B) dypj
C) dykj
D) dynk

56. The code of the word BURN is :
A) dmcz
B) dmcj
C) dmpz
D) dycz

53. AIR I 3R3 S Bodes !

A)
B)
©)
D)

npm
pmz
mzn

npc

54. LIST =@ roae3c modes :

A)
B)
©)
D)

oycs
opks
oykj
opkj

55. BOSE %@z mosws s zodes :

A)
B)
©)
D)

dyfk
dypj
dykj
dynk

56. BURN In@ sz s modes :

A)
B)
©)
D)

dmcz
dmc]
dmpz
dycz



Directions : (Questions : 57 - 61)

In the following questions, a word is written
according to some code. In the same way
find the code for other given word.

57.

58.

59.

60.

In a certain language MACHINE is
coded as PEFLLRH. Then PICTURE
can be coded as :

A) SMFXXVH
B) SFMXXUH
C) SMFVVXH
D) SFMTTXH

In a certain language MASTER is
coded as NZURHO. Then PERSON
can be coded as :

A) QDQTRK
B) QDTQRK
C) QDTRQK
D) QTDQRK

If "TABLE' is coded as 'DKAZS', then
'CHAIR' can be coded as :

A) QHZBG
B) HQYGB
C) QHZGB
D) HSYGB

In a certain language FRUITS is coded
as 1920921186. Then PIGEON can be
coded as :

A) 141568816
B) 141558916
C) 141547616
D) 141557916

NMMS - MAT (K-8) P-1

BRWIN : (JJnwd : 57 - 61)
8 NS JIJNYY woms ISRy, meodeds

PoRoRY WIHGINT. wrke e FRYTIT
'&&a&om I3 soseswaﬁ BOTRIBROWD.

57.

S8.

59.

60.

20w ook IFged MACHINE o,
PEFLLRH oz ®ode32338, PICTURE
O, e WoFeSTTOW ¢

A) SMFXXVH
B) SFMXXUH
C) SMFVVXH
D) SFMTTXH
208> eTod BET MASTER e,

NZURHO 0% zmoge32m3, PERSON
@ﬁiz 33 002 TOoBCSTLTOWD

A) QDQTRK
B) QDTQRK
C) QDTRQK
D) QTDQRK
oW gFEon BT 'TABLE' o,

'DKAZS' a0 zmodeexnmd, 'CHAIR'
@soez 3 0cS TOoBCSTUTOITD

A) QHZBG
B) HQYGB
C) QHZGB
D) HSYGB

wows yeXoss JFT FRUITS wmy,
1920921186 «ow =odedamsd PIGEON
O, B3 Ocd ToECITUTW !

A) 141568816
B) 141558916
C) 141547616
D) 141557916



61.

62.

63.

If the word 'LION' is coded as 150,
then the word 'GOAT' can be coded
as :

A) 132
B) 129
C) 138
D) 125

In English alphabet every alternate
letter from 'A' is written in capital
letters, while others are written in
small letters. Then the third day after
Monday can be written as :

A) thUrSdAY

B) WEdNeSdAY
C) thuRsday

D) tHurSDay

The total number of triangles in the
given figure is:

A) 28
B) 30
C) 32
D) 34

61.

62.

63.

20T ¢RFEeH IFS 'LION' o msm&
150 Qowy moFe3awd 'GOAT' QoW
mwm‘i 33 0 TOBCSTUIOITD

A) 132
B) 129
C) 138
D) 125

QONT® d:’arm@oﬁsﬂ 'A' 00T STORA,
TS TOBREOH (20T, WY, WOW WIT)
WECTW, VAR (capital) @3TTONw,
NOT WETNRYRY, Beg (small) @3Snedche
WICHINT. TOMTS BRCENTOTH N0STT
WINRTIe OETT, vONTEFY B2 Oed

BRI :

A) thUrSdAY

B) WEdNeSdAY
C) thuRsday

D) tHurSDay

3 3UNT WSEQDHT Wiy YEHENY Hoas, :

A) 28
B) 30
C) 32
D) 34



64. The total number of paralellograms in

65.

66.

the given figure :

A)
B)
9
D)

The total number of semicircles in the

AVAN
TAVAVAN

8

12
10
14

given figure is :

A)
B)
9
D)

The total number of rectangles in the

14
20
18
16

given figure is :

A)
B)
©)
D)

60
56
32
28
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64. 3 IINT WTTYTIT Wil TFI00ST
WIgprwne 1og;

65.

66.

A)
B)
©)
D)

VAVAN
TAVAVAN

8

12
10
14

BIEODE by BEE FIAY Bos, :

A)
B)
©)
D)

)

14
20
18
16

WBTOTR wid) BeINY 50935 :

A)
B)
©)
D)

60
56
32
28



Directions : (Questions : 67 - 70) BeuNn ¢ (JJned @ 67 - 70)

Following Questions consists of series of  $$nN= TJRes WFpeor 33 Seedony, BROQI.
figures which are incomplete. In order to  3/tToE TIPFOHNRYOT BRFT WIHW, B0
complete the series, select the correct option.  Besdon, JpeerRAv.

67.
® o}
- ?
® H
o ®
o o) ® ®
®
® ©) ©)
A) B) ) D)
68.
A O A O
hd A e <= | A ?
=> 4 o -
O QO A A
0| A 7 ® | X e A
4 - & <= |
Q Q

A) B) ©) D)



69.

70.

NMMS - MAT (K-8) P-1

N
?
N\
N N
A) B) D)
?
A) B) C) D)



Directions : (Questions : 71 - 74) BRWRAW : (JJned : 71 - 74)

In the following questions, a sheet of paper & g8 IFAYY wow HATT TFODRY,
is folded, punched and part of it is cut <R SOFIPRJPYTY, TS TZOAT LRSI,
(shaded region) and all these are shown by  (seckRe92T Rn) B3R Sowews 3ecdB.
figures. Select the answer from the given  Todch) WRATER Wab TeR FEILIT QLT

alternatives how does it appear if the paper  2/tToR Towy TSPECHRYOT ol TRA !
is unfolded :

\ 1 Y
\ /
\ /
\ /7
\\ ’/
O O
O O
o o o o
o o [e) (@) (o] (o] O (@)
(o] (0] [o) o (o] (o] lo) (o]
O O
O O 6o o o O
A) B) ®) D)
72. > ?
..-"'. .
oo o o
o) © © O (e} (e}
o o
o o o o)
] RO S I O
o o
o o o )
o o 00 o) o)

A) B) ®) D)
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73.

r—_- - -

D)

©)

B)

A)

74.

00
00

oo

00
(o ]¢)

D)

0

A)



75.

76.

77.

Three different positions of a dice are
shown below. The number opposite to
4is:

3 FCR WOTC YT 3 AP mmm&
SRCOZCINT. R0 4 QT zioa%ﬁ 9PT0N
033, :

PR IR

1 1
B) 2 B) 2
C) 3 C) 3
D) 5 D) 5

Different positions of a dice are shown
below. The number opposite to 3 on the
basis of position is :

w06

2
B) 1
C) 4
D) 5

The number lies opposite to the face
having 4, when the figure is folded to
form a cube is :

1 ]2
6
4
53

A) 5

B) 4

) 3

D) 2

24

3 ILA wOoTe YT 3 3339371’65334
SRCOTCINT. [ 3€é (OINr e vl g
0033, :

R

A)
B)
C)
D) 5

A= DN

77. WBTOTITOZ woW FNTET TFODRY,

HR2WN a:s’m%@a LYVOLRTHIT. &N T
4 % DTN N 50935 :

12
6
4
53

A) 5

B) 4

C) 3

D) 2



78. Asheet of paper as shown in the figure

79.

is folded to form a cube. Select the
correct pair of opposite faces from four
alternatives given below :

o | A
| %
-
A o I
B) e %
C) % A
D) A Y
Direction : In the given question a

mirror is placed infront of a figure as
shown. Find the correct mirror image
of the figure from given alternatives :

NMMS - MAT (K-8) P-1

78. aagzsegsmog WO TNTT m@’oﬁom&

79.

RN aﬁm%é YOOI, BRI
SEISH e:sofoéﬁ%?cg TOOINTW WPFWD
BRCRTNOND :

o | A
m | %
N/
A e Y
B) e
C) * A
D) A Y

B 1 3UNT JJODY #¥TW oot womd
TVEOTT, BOBINT. & WIE TOOIRT
TTEED JIWOWTTY, BRTeT wWIReoT
ok, SRR ¢

A) B)

o) D)



80. In the given question there are symbols
above the line. Their water images are
given below. Find the correct water
image of the symbols from given
alternatives :

@S & #w

A) ©FE B H-
B) @O4$% &~
C) ~%¢240
D) ©@2%% #~

Directions : (Questions : 81 - 84)

In following figures, a part of the figure is
missing. Identify the missing part among
the four alternatives given under each
question:

81.

80. 39S TFoHQ Sesdch HheRABYHLT

Hoge3n®  JeOF TIVoWRETY, FYR
QETZSRNT. WRPYNLOT TOOINRT Je0T
TBROWTRY, BeLITHT Josrobnvos ol
SRR.

@S & #

A) OFER H-
B) @4$ ¢ %~
C) ~“%¢%240
D) ©@2%% #~

Rousne @ (IR : 81 - 84)

sn%dow eﬁ@émf@o esa’déoiu WOy yon
WTRLITIONT. B30 JJ ok IR dRLiTs
), TOSRFONNLOT ) SRCNTHLT mrm?bd
moheR

A) B)

Q) D)
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82.

>

D)

A)

83.

A) B) C) D)



84.

N

QMI.

‘“lllllvu%
'~ :
A) B) i D)
Directions : (Questions : 85 - 88) TR 1 (T3 : 85 - 88)

In the each of the given figures, there is 35 2oR 2puos T3A3HROD 523030 ZATY
a relationship between first two figures.  ~gzy es3 gﬁgﬁ 50505535. Qe %oa.)o; 30338
The same relation is between the next two g5z, e:s%d 3P 2,00, FPUDLRHDY. FLDS
figures, but one is missing. Find the missing wmrog)m@o% 55 gémaj@m& ”

figure from the given alternatives. *

My

Ay

A) B) ©) D)



87.

A?
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/ﬁ\

A

VAW

A)

B)

?

©)

D)



88.

[ ole [ [ f?
o 0|0 o0 ° .
O O O
o X0® 0 X0 oOXO
@) O @)
A) B) C) D)

Directions : (Questions : 89 - 90)

89. Assuming that the following statements
are true, find the correct conclusion
from the four alternatives.

Statements : i) All horses are donkeys

ii) Some donkeys are sheep
Conclusions :
A) All horses are sheep
B) All donkeys are horses
C) All sheep are horses.

D) Some donkeys are horses.

BRWINW : (IZnw : 89 - 90)

89. 3IYNT Jevdned TOWSINT NOTH PN,
a"w%o’oa’ QEWNRETNOOW TOOIT
36@?55&4 e.-soS:g =R.

TN i) QTR BDTOAL IZNLH
ii) 30y 33ned ONW

SCTRERND
A) 2 BDTIRL BONW
B) 29 32ned 3R
C) 2 BOMYH DTN

D) 3o 32Red 3pmdnw



90. Statement : Most of the members of
that team are good players.

Conclusions :

A)

B)

©)

D)

There are no bad players in that
team.

All members of that team are good
players.

Some members of that team are not
good players.

That team always performs well.
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90. JePF : &3 30TBT W3 mzﬁm emgm
e:sasmdmﬂm&d

SCRPEINGD -

A) © 30TTY 3YH BN AY.

- ]

B) ¢ 0T 29 ITIHIY TR
o ZS )
SIEpleieplplaplel

C) © 0BT 3T WWSI BLMOTTY.

D) © S0® clmmenoe (W IW3FST
DETTT.








